Income

Definition in Glenshaw Glass: an accession to wealth, clearly realized, over which the taxpayer exercises complete dominion. (P72)

Excludable/nontaxed income

gifts (§102)

bequests (§102)

Annuity income attributable to original investment amount

loan proceeds

some employer provided meals/lodging (§119)

frequent flyer miles (p55)

some fringe benefits (§132)

no additional cost services

qualified employee discounts

working condition fringe

de minimis fringe

reimbursements for costs incurred at work §132(d) 

if not reimbursed, the amount may be deducted under §162

“transfer payments” aka welfare

TANF

Medicaid/Medical

Medicare

Social Security

social security payments.

disaster relief payments

victims of crime payments

child support (not deductible for the payee and excludable not taxable for the recipient

Not excludable/taxed income

compensation

tips

bequeathed income from property (Irwin v. Gavit)

dividends from stocks (§61(a)(7))
unemployment payments (§85)

gifts from employers (§102(c))

FMV of fringe benefits not contained in any of the code’s exceptions

exchange of services/bartering (p69)

unemployment payments (§85)

winnings in game shows

gains on sales of gifts or inherited prop (§1011-1015)

Alimony payments (deductible for the payee and the recipient is taxed)

damages received in lawsuit/settlement for personal physical injury (§104a2)

discharge of debt by a third party (Old Colony)

interest on savings bonds, when the entire amount of proceeds from the redemption are less than the amount the taxpayer spent on education/tuition/fees. (p190)

Exchange of services/bartering is income, it is not excludable

Ex: lawyers exchanges legal services for a painter to paint his house. Taxable.

problems if this is NOT income:

bartering is too inefficient

Tips are income

tips are compensation for services rendered.

no legal obligation to pay it, but that is not the definition of income. 

very difficult to enforce

so IRS puts burdensome reporting requirements on reporting tips. Restaurants must withhold taxes for the anticipated tips amount. The taxpayer then adjusts the amount on his/her tax return when they get their W2.

Welfare income is excludable

They are accession to wealth but TANF and Medicaid recipients typically don’t have any tax liability b/c they are below the income threshold.

SS is pegged to AGI (adjusted gross income). If your income is below ~$36k, no SS is included in income.  If your income is above $36k, 85% of SS is included in income.

 Unemployment payments are included in income (§85)

KEY question:  What is the recovery replacing? If the replacement item is taxable, the recovery is taxable 

Think of how we treat compensatory damages in Glenshaw Glass. They are income b/c they are meant to replace profits the plaintiff would have earned but for the D’s infraction.

Unemployment compensation is also replacing wages the taxpayer would have earned but for his or her condition.

Loan proceeds are not income.

There is no accession to wealth b/c taxpayer must give obligation to repay the loan in exchange for the money. On a balance sheet the net is zero.

recourse laon allows bank to go after wages, other assets to recover their money

nonrecourse loan allows bank to go after only the security posted (usually the property being purchased)

Employer-provided food and lodging

Bengalia: 

man working as manager of Hawaiian hotels. He and his wife lived at the hotel and ate there. This was not taxable income.

the employee is forced to consume the lodging and meals instead of having the freedom to use his money to buy something else

Taxpayer’s rewards may be less than market value, so Congress solved the problem by statutorily valuing the benefit at zero.

§119: value of meals and lodging furnished to an employee by his employer are excluded from income, are excludable as long as they were 1) furnished by the employer, 2)on the employer’s business premises, 3) for the employer’s convenience.

1. “furnished by the employer”

Meals must be “in kind:, cash reimbursements for meals are not excludable.

meal allowances to highway patrol troopers were not excludable under §119 b/c they were not “furnished by” the employer.

2. “on the employer’s premises”

wherever the employee works

3. “for the employer’s convenience.”

where benefit to the employee is “incidental” to the employer’s convenience, the meals and lodging are excluded.

Necessitated by job duties.

But, think of necessitated in the looser sense that there is simply a good explanation for the requirement.

Extra requirement for lodging: the employee must be required to accept the lodging as a condition of employment for the value of the lodging to be excludable.

where the job requires the employee to be on call at all times, the lodging is not income.

Where the employee has a choice to live on campus or take cash and live off campus, the lodging is not excludable.

There must be a substantial reason that the employer is requiring the employee to live on the premises

Employment Ks are not determinative of whether or not the meals/lodging are “compensatory”

Or, in the case of a cop, just because the city ordinance tells us the meals are not compensation does not mean they are excludable under the tax code.

employment K does not create excludable meals and lodging in and of itself

if all these requirements are met, it is excludable even if the parties subjectively perceive the meals and lodging as compensatory

Frequent flyer credits

Earned by an individual, while traveling for the company on business, then used for a personal trip=  income, but the IRS is not coming after you for it, so it is effectively excludable.

Scenario: You pay for the trip. Firm reimburses you. You gave airline your frequent flyer number and you earned miles. You use your miles to take a personal vacation. Income?

Brad says this is plainly income. 

Although, it’s excluded. 

The problem is one of valuation. Miles are worth vastly different amounts depending on how they are used, which airline, what time of year they are used, etc.  

the IRS announcement tells us it will not “assert a deficiency” or come after you for not reporting it as income. 

People were used to not reporting it for 10 yrs so it had political inertia to prevent this from becoming taxable income.

Earned by an individual, on personal travel, then used for personal travel ≠ income.

You take a trip using your own after tax dollars. You earn miles. Income? No. 

You purchased the miles. You bought the miles when you bought the travel. The cost of the miles are included in the cost of the ticket. 

It’s not compensation like it is in the other example. It’s not a windfall. 

p53

If the miles are converted into cash, then that amount must be included in income. p54.

Applies to other promotional benefits as well, not just frequent flyer miles.

FRINGE BENEFITS

no additional cost services §132(b)

The value of services an employer provides to an employee are excludable where 1) the service is one that the employers sells to customers in the ordinary course of the line of business, 2) provided for the employee’s use, 3) employer incurs no extra cost to provide the service.

these benefits are personal in nature and not related to doing a particular job.  As opposed to working condition fringes, which are business related.

only “excess capacity”  services qualify

hotel, flights, buses, trains, telephone services.

Services of a stock brokerage firm to purchase stock does not qualify (p545 code)

Line of business requirement

Free stand by flights to airline employees and their families is excludable.

Financial planning services from a manufacturing company is not excludable.

“Employee” includes: retirees, disabilitees, employee widows/widowers, retiree widow/widowers, spouses, dependent children, 

If air transportation, parent of an employee.

does not extend to independent contractors

reciprocal agreements are allowed

ex: one airline allows another airline’s employees to fly standby for free and vice versa.

Immediate family members (spouse and dependent children) may receive the benefit without income tax consequences. §132(h)(2)(A).  

These fringe benefits are only excludable as long as there is no discrimination in favor of highly compensated employees. §132(j)

highly compensated employees Reg.§1.132-8(f)(1)

owns 5% or more of the company

is paid more than $75k

is paid more than $50k and is one of the company’s top wage earners

Slight twist: employees get a 15% discount. Officers get 20% discount.  It’s either on or off. If you flunk the discrimination, it’s off for the partners.  BUT, the rank and file employees could still exclude their 15% discount.

Reg 1.132-2 p545-546

qualified employee discounts

Companies can sell their products/services to their employees at discounted prices. §132(c)

The percent discount may not be lower than the gross profit percentage.

The discounted price offered to the employee must still at least cover the employer’s cost of the item.

Gross profit percentage= (amount of total profits) / (amount made in total sales to customers)

EX: Store has $400 worth of merchandise. Store sells it for $600k.  The store had made $200k in profit.  $200k / $600k = 33.33%.  Therefore, the maximum employee discount is 33.33%.

the discount that falls within the rule is excludable, and the remainder is taxed.

EX: Maximum excludable discount is 33.33%. Employee is offered 50% discount.  Employee must report at income the amount of the benefit over 33.33%.

“qualified property” is that which is offered for sale in the ordinary course of the line of business in which the employee works, and it is not real property or property held for investment. §132(c)(4).

Ex: A home applicance store can sell the home applicances at a discount, but it could not sell the back room desks and computers. 

These fringe benefits are only excludable as long as there is no discrimination in favor of highly compensated employees. §132(j)

the discount must be available to all employees.

Slight twist: employees get a 15% discount. Officers get 20% discount.  It’s either on or off. If you flunk the discrimination, it’s off for the partners.  BUT, the rank and file employees could still exclude their 15% discount.

working condition fringe

Allows employee to exclude any service or property provided by the employer, if the cost for that service or property would have been deductible under §162 had the employee paid for it himself.

§162 allows employees to deduct “ordinary and necessary” expenses paid or incurred in carrying on any trade or business.

Ex: subscriptions to professional journals.

Ex: depreciation on property used in trade or business 

Different from a no-additional cost benefit because these benefits are business related. 

No additional cost benefits are personal in nature.

Memberships to prestigious country clubs are not working condition fringes.

It’s also not deductible as an “ordinary and necessary business expense” under §162 because such a deduction is specifically disallowed by §274(a)(3).
If the cost were deductible as an “ordinary and necessary” business expense, employee  could exclude the payment of the membership fees by employer as a working condition fringe

Reg 1.132-5 p546-548

transporation when security concerns exist

product testin

de minimis fringes

Benefits are excludable when their value is “so small as to make accounting for it unreasonable or administratively impracticable.” §132(e)(1).

typing of personal letters by a company administrative assistant, 

the occasional personal use of a copy machine,

occasional company cocktail parties or picnics,

transportation provided for the security of the employee, 

occasional entertainment tickets, 

coffee, donuts, and soft drinks provided employees

meals or meal reimbursement provided to employees who work late are excludable if three conditions are met:

(1) they are only provided occasionally, 

(2) they are provided when the employee works overtime, and 

(3) they are provided to enable the employee to work overtime. Reg. §1.132–6(b)(2) p549

Discrimination is ok for most de minimis fringes

De minimis fringe benefits, with the exception of meals provided at a company cafeteria, need not satisfy the nondiscrimination requirements of §132(j).

Discrimination is NOT ok for de minimis meals

meals provided at a company cafeteria may be excluded as long as that cafeteria does not discriminate in favor of highly compensated employees. Regs p551.

Eating facilities are usually de minimis

as long as the eating facility is on or near the employers premisis, and the revenue pays for the employers cost of operating it.

Transportation fringes

Exclusions apply to commuter vehicles, transit passes, qualified parking.

commuter vehicle= 6+ passengers, 80% of mileage for getting ppl to work

Qualified parking= parking on or near the business premises, or other location where the employee works.

Dollar limits

Indexed for inflation

in 2004: $195/mo for parking, $100/mo for transit passes and commuter vehicle.

Constructive receipt does not apply to this section.

Normally, if an ee has the choice to take the cash or use the parking, the rules of constructive receipt assume she used the cash to buy the parking. If someone is given choice of parking or cash, we have no problem of valuation. We instantly know the employee values it so we call it income.

But, this rules tells us not to count it as income.

Were it not for this VERY narrow exception, this would not be excludable.

Other fringe benefits

Cafeteria plans or §125 plans

This is where an employee may choose from a variety of noncash nontaxable fringe benefits, or, if he doesn’t want any of those noncash benefits he can just take the cash.   (p51)

the employer may withhold $X from paycheck and puts it into any number these plans. The employer then does not pay taxes on that withheld amount.

If the employee elects to take cash, the cash amount is taxable.

it is an exception to the doctrine of constructive receipt w/ respect to certain specified benefits

The types of non-cash benefits that may be offered that are not taxable are:

Group life insurance up to $50k (§79)

Dependent care assistance (§129)

Adoption assistance (§137)

Accident and  health benefits (§105/106a)

Elective contributions under qualified cash or deferred arrangement under 401k.

Health insurance premiums

This is subject to a “use it or lose it” provision. You must elect it before the tax year. If you don’t use the money in that tax year, you lose it. 

If your employer doesn’t offer any of these benefits, and you wind up having to pay for it out of your own pocket, then these expenses are not deductible. If you employer is too small or too unsophisticated to offer these plans, you are SOL.

Endowment policy

Company X pays $10k in 2008 to an investment company for a policy in the name of Employee. In 2058, Employee will receive $50k.  Tax result:  Employee must pay taxes on the $10k in 2008, and pay taxes on the remaining $40k in 2058.

Group term Life insurance purchased by employer for employees

cost of getting $50k worth of coverage is excludable

Excludable under §79.

the cost of purchasing a plan in excess of $50k is taxable.

Ex: you pay (or your company pays) $200 for a $50k life insurance plan. That $200 is excludable from your income.  

Ex: you pay (or your company pays) $500 for a $100k life insurance plan. The $200 is excludable from your income, but the remaining $300 is taxable; i.e., not excludable. You must pay taxes on that amount.

doesn’t have any logic in tax policy except for forced consumption aspect

Health insurance

Excludable under §106(a)

Dependent care assistance

Excludable under §129 up to $5k a year.

Employers usually provide this in the form of cash. 

Again, this is about broader public policy as opposed to any logic about what makes sense from tax policy.

Moving expenses

Retirement planning services

Use of an on premises athletic facility is excludable

as long as it is 

1) located on the premesis, 

2) operated by the employer, 

3) substantially used by employees and their spouses/children.

Windfalls and Gifts

Damages won in lawsuits p141-145

Threshold question:  if the damages were received “on account of personal physical injuries or physical sickness,” everything other than the punitive damages is exempt from taxation, including the portion for emotional distress. §104(a)(2).

 this exclusion was designed to make employment harassment recoveries taxable
doesn’t matter if the damages were won at trial or in a settlement.

 “on account of” is the language (not “for”)

If the triggering event is physical you can still recover for non-physical injuries.

If the triggering event is not physical the exclusion does not apply even if there are some physical manifestations resulting from the nonphysical injury.

Even if the triggering event is physical injury to person #1, and damages are paid to person #2 for subsequent emotional trauma or psychiatric counseling—the entire amount is excludable.

BUT, punitive damages must still be included in income.

Medical expenses are always excludable.

regardless of the trigger.

even if the result of emotional distress.

however, if TP has already deducted the cost of medical expenses under §213, then the recovery is included in income.

§213 allows TPs to deduct medical expenses in excess of 7.5% of TPs AGI.

damages for loss of consortium are excludable under §104(a)(2).

Recoveries for wrongful death are excludable.

Worker’s comp payments are excludable.

for both physical and nonphysical injuries. §104(a)(1)

Recoveries for lost wages are taxable.

unless the recovery was on account of physical injury.

Emotional distress damages are taxable 

Unless the recovery is account of physical injury.

In some Jx, Murphy v. United States controls instead of §104(a) which allows emotional distress damages to be excluded.  D.C. Circuit.

Compensatory damages are taxable 

b/c they are meant to replace the profits the plaintiff would have earned but for the D’s violation. Had P earned the profits, P would have paid taxes on those profits.

Under the “replacement rule”, P must pay taxes on the compensatory damages which are essentially substitutes for the profits the P would have earned but for the D’s illegal activity that prohibited it from earning such profits.

If the recovery replaces something that would have been taxable, then the recovery is taxable.

Punitive damages are taxable.

This money is a ‘windfall’ under Glenshaw Glass
the focus is on whether this is an accession to wealth for the Ps.

P didn’t do anything to get those punitive damages, so it’s just like a taxpayer who found money on the street.

the purpose of punitive damages has nothing to do with compensation. It has only to do with punishing someone else. The fact that it lands in your lap instead of in the civil coffers via a civil penalty, doesn’t mean you shouldn’t have to pay taxes on that. 

As a matter of fairness, we shouldn’t impose greater tax liability on people who work for their money than on people who fall into a windfall.

Ex: Money received in a lawsuit for fraud or treble damages is income and is taxable.

Remember, legal fees are deductible to the extent they exceed 2% of TPs AGI.  §67

Recoveries from disability insuance policies paid for by TP are excluded. 104(a)(3)

§102(a) excludes gifts from income

Recipient does NOT have income.

Donor does NOT get a tax deduction.

Essentially we tax the recipient by not giving a deduction to the donor.

But, income earned from a gift of property IS income and IS taxable.

Ex: gift of rental property. Rent proceeds are income.

Ex: Use cash gift to buy stock. Dividends and proceeds are income.

Ex: Grandpa gives interest income to Dad and principle to Granddaughter in ten years. Dad must pay taxes on the interest income.

A different result would occur under the Glenshaw Glass definition of income

Glenshaw Glass (p70)

Gift is income for the recipient. He has an accession to wealth.

Donor receives a deduction. He lost material consumption power because he transferred it to the recipient.

A gift occurs when the donor’s subjective intent is “detached and disinterested generosity.” 

Very fact dependent. Totality of the circumstances.

Factual determination; so trial courts deal with it. Only reversed for clear error by appellate courts.

Rationale for the statute

we want to stem evasion of progressivity, or stop undermining progressivity.

If we used the Glenshaw Glass definition, there are too many transactions btwn families and friends that would result in deductions for donors who are typically in higher tax brackets than recipients.

Administrability would be impossible.

Valuation issues: what is the value of a family heirloom?

The number of transactions would be incredibly high.

We would have many more people claiming the deduction than we would have reporting the income.

By not giving a deduction, we essentially tax the donor. 

§102(c) does not allow exclusion of gifts from employers to employees.

Stanton: §102(c) tells us that gifts from employers to employees may not be excludable “gifts.”  

any transfer from an employer to an employee may not qualify as a “gift” and is therefore not excludable on those grounds.

But it may be excludable on other grounds.

§274(b)

Donor can deduct, as an ordinary and necessary business expense, up to $25 of gifts per individual per year.

“Business expense” is supposed to be related to making money, which is at odds with “disinterested” notion of gifts. So this section is essentially a social policy to ‘throw a bone’ to the taxpayers who will limit their deductions to this.

§102 Bequests are excluded from income

Bequests/Inheritances/Death transfers

§102(b) income from property that was gifted/bequeathed/inherited IS taxable.

Irwin v. Gavit p103.  Trust fund was not taxable, but interest income from the trust that was being received WAS income.

§1014: recipient’s new basis in inherited property is FMV at time of death.

This rule is going to go away on Jan 1, 2010. 

Estate tax is also going away in 2010.  But it’s all coming back on Jan 1 2011. And, it’s coming back to the levels it was at in 2001.

If the estate tax goes away, there is no justification for the rule. So they go away together.

Inter vivos transfers of unrealized gains or losses governed by §1015

Statutory definitions §1001

basis= how much you paid for it

or, how much taxpayer has invested in the property using after tax dollars.

Some exceptions may allow for adjustments/changes in basis.

Amount realized= FMV of everything taxpayer gets in return. 

Could include cash and other stuff

how much you received for it

Gain= amount realized– adjusted basis

Loss= adjusted basis - amount realized.

§61 definition of income includes “gains” but not “losses”.

§1015: donor’s basis carries over to recipient, sort of.

Recipient takes basis of the original purchase.

Problem for recipient could be figuring out what the original price was.

It’s too hard to figure out what the value was at the time of the transfer, so we wait until the asset is ultimately disposed of (realized) by recipient and then tax him on the entire gain. 

Upheld in Taft v. Bowers

At the time of the gift, if FMV value exceeds donor’s basis, then the donor’s basis carries over to the donee.

We let the donor give property that has unrealized gains, but we tax the recipient as a surrogate for the donor.

BUT, if at the time of the gift, FMV is less than the donor’s basis, then we use the donor’s basis to compute gain but we use FMV to compute loss. 

EX: A pays $100 for property. It’s worth $30.  A gives the property to B. B immediately sells the property for $30.  B could deduct $70.  This rule prevents this scenario from happening.

This would ruin progressivity.

Congress has stopped transfer of loss property for a tax benefit.

There are no tax consequences when the donor can not compute a gain nor a loss.

Ex: Sarah bought several shares of Oracle stock for $8,000; she transfers those shares to her daughter when their FMV has declined to $6,000.  The daughter sells the shares for $6,500.  

If we use Sarah’s old basis, we wind up with a loss which §1015 does not allow.

If we use the FMV on date of transfer as the basis, we wind up with a gain which §1015 does not allow.

Therefore, there is no gain and no loss. No tax consequences.

Careful:  Exchange of property in return for services = recognition event

If transfer is made in order to compensate someone for goods or services, we treat the value of the transfer the same as cash.

Example:  Bessie bought several shares of stock in Apple for $1,000. After its FMV has increased to $20,000, she transfers it to her lawyer in payment of a $20,000 bill for legal services. Her lawyer sells the stock the following year for $22,000.

As to Bessie: she is using the stock the way she would normally use cash. So treat this as if she sold the stock, got the money, and gave the money to the lawyer.  Her basis is $1,000. Her amount realized is $20,000. Her taxable income is $19,000.

As to the lawyer: The stock represents payment to lawyer for services and is therefore income under §61.  Payment in stock is no different than payment in cash.  Treat him as if he got the $20k in cash and then bought the stock.  The lawyer must pay income taxes on the $20,000.  As to the stock, his basis is $20k and his amount realized is $22k, so he has a $2k taxable gain.

Gifts of divided interests

Nature of the issue

one piece of property is divided up into different sized pieces and given to different people.

There is no obvious basis in some cases.

If A had two shares of stock, gave one to B and one to C. That’s easy. We can give $50 basis to B and C. 

Suppose it’s the dividends for the next ten years to B and the stock in ten years to C. Qualitatively different aspects given to people.

Donor’s basis goes with the “property” §102(b)(2)

Recipient of the “corpus of the trust” gets the full basis.

Income interest holder gets no basis and must pay taxes on the income received each year.

Ex: Irwin v. Gavit:  Grandpa died. Created a trust. Trust gave interest income from $100k CD to Dad for term of years. Trust would give $100k from the CD to Granddaughter at end of term. Grandpa’s basis goes with the $100k.  Dad had no basis in the interest income.

Gains on sale of divided property

If you sell part of your property, you must determine the gain/loss at the time of the sale; you may not defer it until you sell the rest of the property.

Dividends from stocks are income and are recognized in the year the money is received.

Income Among Spouses

Taxpayers may not avoid paying taxes on income by transferring to income to their spouse.  

Not even if they make a K to do so.

Lucas v. Earl

Attny-hubby and wife execute a K.  Makes income belong to both of them equally.  All income belonged to hubby.  This was before joint returns were mandatory. 

Hubby reported half the income and the wife reported half the income.  They did this so that they would get more money taxed at the lowest brackets instead of triggering the higher tax rate by reporting it all under hubby.

Court says you can not contract out of tax liability.

Income belongs to hubby.

Transfers from hubby to wife are usually gifts, and gifts are not taxed. So we tax all of it to hubby and don’t tax the gift to wife.

GR: married people must file joint returns.  

They can file separately but it still requires them to count income earned by both.  No advantage.

Married couple is a single economic unit so tax is determined as one unit and paid as one unit.

The marriage penalty

As of 1969, some people are made worse off when they get married from a tax liability perspective.

Couples who have nearly identical incomes would increase their tax liability as a married couple, as compared  to their tax liability if they remained single.

Thus, the marriage penalty. 

It is the byproduct of the mathematical impossibility of trying to 1) have a progressive rate schedule, 2) tax all couple with same total income equally, 3) no tax consequences from marriage. You can only pick two of the three. 

Now, it’s just too expensive to eliminate the marriage penalty without raising other taxes.

If a married couple earns less than $100k, they benefit. Once they exceed that, it’s a marriage penalty.

Capital Gains (and Losses)

Definition

A gain or loss on the disposition of a capital asset.

A capital asset is property, other than property held for sale in the ordinary course of business (inventory). 

Sale of products is ordinary income.

Sale of any other product is going to generate capital gain.

The “property” may not be property that is used or consumed for personal purposes.

Allowing a deduction (for Ex) for depreciation on sale of a car, would be like allowing deduction for going to the movies or going out to dinner. It’s not really a “loss”, rather the value has been consumed by you.

In contrast, if the property appreciates is does become a capital gain.

Why it matters: capital gains are taxed at a more favorable rate than ordinary income

there is no distinct capital gains tax, technically.

capital gain is income

we have a capital gains preference in the code, capital GAINS are taxed at a favorable rate (as compared to income)

long term capital gains= held by taxpayer for at least one year, then sold and generates a gain.  They are taxed at maximum 15% right now. (changes almost every year).  If your marginal tax rate is less than 15%, then your capital gains rate is lower.

short term capital gains= held by taxpayer less than one year, sold and generates a gain.  Taxed at the same rate as the taxpayer’s marginal rate. Taxed as income.

Although, there is a disadvantage on capital losses.
there is a limit to how much loss you can deduct as the result of selling capital assets.

A noncorporate taxpayer may only deduct $3,000 + the amount he made in capital gains that year. 

EX:   You lose $5,000 on the sale of one stock, you make $50,000 on the sale of another stock. You may deduct up to $53,000.  In this case you’ll be able to deduct your entire loss.

EX:  You lose $5,000 on the sale of one stock. You don’t make any capital gains that year. You may only deduct $3,000.  You may wait until the following year to deduct the remaining $2,000.

Losses may be carried over YoY indefinitely

This is called “capital loss carry over”

We need the limitation on deductions to prevent ppl from creating huge tax shelters to compensate for their gains.

Annuities

Description :

Make a lump sum payments now to an insurance company, and the company will give you $Y fixed monthly payments in the future for a term, or for life.

EX:  Give the insurance company $100k today. It promises to give you $9k per year for as long as you live. You are 60 years old. You expect to live another 20 years.

Big question: “when” is it taxable?

§72(a) income from annuities is included in gross income.

EX: If the insurance company were to pay you back the $100k at $5k a year for 20 years, you would owe no taxes on that.  But anything above that amount, $4k in this case, is taxable income.

§72(b) requires us to use the “exclusion ratio” to determine what amount is income.

Ratio= amount invested divided by the expected return.

EX: 100k/180k is 55.5%.  

Apply the ratio to each payment.

EX:  $9,000 * .555 = $5000

The ratio amount is NOT taxed.

The remaining amount IS taxed.

EX: $5000 – 4000 = $1000.

Congress could have used two other alternative methods of calculating the tax owed: “Income first”

Taxpayer friendly.

EX: Allow a full deduction for the entire amount received ($9K) the first 11.5 years (up to $100k)

or “Investment first”

IRS friendly

Figure out what the rate of interest would be. Let’s say 7.5%.

Each year the taxpayer must pay taxes on the amount he earns each year, just like he would if the money was in a savings account.

EX: Pay taxes on $7,500 of the $9,000 each year.

§72b)(2) kicks in if you live long enough to recover more than your investment: once you recover your investment, the entire yearly amount received is taxable. You may only recover the amount you invested.

Once you recover all the amount you invested, the entire yearly amount becomes taxable.

EX:  If you live longer than 20 years, the amount of the investment is zero.  The entire $9k yearly payment is taxable as gross income.

§72(b)(3) kicks in if you die before you have received all your payments from the insurance company: your estate may recover the rest of your basis.

 Your estate may deduct the amount of the investment that was not recovered.

EX: If you only live ten years after you make the investment, you received $50,000 of your $100,000 investment.  You (your estate) may deduct the remaining $50,00 from your final tax return. 

EX: (amount of capital recovered in each payment, or nontaxed amount)  x  (number of payments received) = amount of capital recovered thus far.  (Original amount invested) – (amount of capital received thus far) = amount family may deduct.

Double check:  ((taxable amount per payment) x (number of payments)) – (amount family may deduct) = (total amount received) – (original amount invested)

Your estate must still pay taxes on the payment you received, if you died after you relieved it but before you paid taxes on it. 

EX: your last check was sent in June. You died in November. Taxes are due in March. You died before you paid the taxes on the payment. Your estate must pay those taxes.

Different rules for annuities purchased before Dec 31, 1986:

you use the exclusion ratio for all the payments, even after they exceed the amount of your investment.

if you die before you recover your investment, your family may not deduct the unrecovered amount.

Deferred annuities are treated the same

You pay the insurance company $100k in 2000. You expect to retire in 2012.  You expect to live until 2031. You expect to receive $9k a year.  You receive nothing from them until 2012.  During those 12 years, the company invests your money so it grows to $200k by 2012.  Now they can pay you $18k a year.  Your expected return is now $360k.

Exclusion Ratio= 27.777%  ($100k / $360k)

 27.777% of $18k = $5,000 is not taxable.

$18k - $5k = $13k taxable income per year.

72(e) a taxpayer who gets a loan against an annuity policy will need to pay taxes on either:

amount of the loan

OR increase in the value of the policy,

whichever is LESS.

72(q) requires taxpayers who are younger than 59.5 to pay a penalty equal to 10% of the amount of the income received, on any premature distribution.

premature distribution includes any payments not part of a series of substantially equal periodic payments for life.

Pensions

Employee contributions = “investment in the K”

this money is taxed when they are withheld from the paycheck, so it is already taxed at the time it is invested.

Employer contributions ≠ investment in the K

This money is not taxed when it is invested, so the employee needs to pay taxes on that amount when it is withdrawn.

72(b) exclusion ratio= employee contributions.

§72(d) simplifies the exclusion ratio:  investment under the contract divided by anticipated payments.

Anticipated payments is specified by the Code according to the recipient’s age at the starting date.

Unless the K specifies a number of payments that number is used.

Gambling

All gains are taxable.

Winnings are windfalls, like punitive damages.

Losses are deductible only to the extent of the gambling gains in that year.

there is entertainment value in the gambling.

it’s like personal consumption, like depreciation of a car or going out to buy dinner.

Keeping all the gambling losses/gains together is called “basketing”

we don’t want any net losses from the “basket” to be deductible.

Excludability of Recovered Losses/Damages

Two step framework

First: is it income w/in §61?

If it’s not , we don’t have to worry about the exclusion in the next question.

Second: if yes, is it nonetheless excludable?

Most likely basis for exclusion= §104a.

Recovering losses by deducting them from income.

Losses are presumptively deductible §165

The deduction is a means of recovering the loss.

Deductions are allowed for losses 1) incurred in trade or business, 2) incurred in investments, 3) incurred from theft/disaster/casualty

Tax benefit doctrine:  if a subsequent event occurs that is inconsistent w/ the earlier deduction the taxpayer must “repay” the deduction.

Recovering losses by successfully suing someone.

Raytheon:  when money is replacing company’s goodwill, it is taxable.

Deals with the first question in this framework.

Company won $410,000 in trial. It reported $60,000 reported and did not report $350,000.

Court said the $350,000 was replacing damage to the company’s intangible property: goodwill.

Taxpayer has the burden of proving basis.  Companies can rarely prove basis in goodwill.

Basis in this case was zero so the entire amount was income.

Companies rarely can prove basis b/c the costs associated with creating goodwill are deductible in the year the money is spent.

§104 allows recoveries on account of personal injury to be excluded from income.

Note: this exclusion was designed to make employment harassment recoveries taxable
104a2: If the triggering event is personal physical injury or sickness, then the recovery is excludable.  

“on account of” is the language (not “for”)

If the triggering event is physical you can still recover for non-physical injuries.

If the triggering event is not physical the exclusion does not apply even if there are some physical manifestations resulting from the nonphysical injury.

Even if the triggering event is physical injury to person #1, and damages are paid to person #2 for subsequent emotional trauma or psychiatric counseling—the entire amount is excludable.

BUT, punitive damages must still be included in income.

damages for loss of consortium are excludable under §104(a)(2).

Reverse implication: if the triggering event does not involve physical injury or sickness, the recovery is taxable.

Insurance recoveries on (for ex: land) are taxable income.

Not withstanding the express nonrecognition provisions that apply to involuntary conversions. (p34)

Discharge of debt by third parties is sometimes taxable income

Old Colony: a taxpayer is enriched if his obligations are discharged by a third party

president of the company was paid $1M salary. Company paid his $700,000 income taxes. This money should have been included in the taxpayer’s “income.”

It should be treated as if the company gave him $700,000 and then he gave it to the IRS.

It does not matter that the obligation in this case happened to be income taxes. The obligation could have been for any debt.

Diedrich: 

Clark: reimbursements for losses, paid by a third party, are not “income.”

Tax accountant messed up, taxpayers had to pay and extra $20k. Taxpayers did not have the option of amending their return to fix the mistake.  Taxpayers would have owed less but for the mistake.

Accountant paid taxpayers the money back.

This was not income because it was reimbursements for a loss.

A refund of overpaid taxes that have been withheld form an employee’s paycheck is not taxable, because that was his money fair and square but the government took more than it was supposed to. It was merely returning the overage.

This payment was not for compensation like it was in Old Colony, this payment was 

Apply the replacement rule.

When the recovery is replacing something that was lost, the recovery amount is tax free.

This money was not taxable.

Kirby Lumber: getting out of a loan for anything less than what you signed up for is income.

retirement of an outstanding debt for an amount less that its face value results in taxable income to the debtor. §61a12

Facts

company issued bonds for $1M

then it repurchased their bonds for $862,000

how did they manage to settle their bonds for less than the purchase price?:  either 

(1) 1) company was going to go bankrupt and bond holders risked getting nothing for their bond. As the risk of default increases, the value of the bonds go down,

(2)  or 2) interest rates go up. The value of existing debt goes down. The bond holders want to get their money back so they can take it somewhere else and invest it in a current, higher yield investment.

Kirby must pay taxes on the amount it “saved.”  ($1M – 862,000)= 138,00 income

For purposes of finding this as taxable income, it doesn’t matter what Kirby did with the loan proceeds.

use of loan proceeds

Kirby may have a loss under a separate section of the code, depending on what happened with the money, but think of it as a separate transaction.

Kirby rule does not apply when the loan is made by the seller, and the seller gives a discount for on time payments (for ex.)

Section 108e5

ex: debt is directly to the seller of property. Instead of borrowing from 3rd party, you go to Sears and buy a washing machine and you borrow money from Sears. You make every payment on time. Sears has a deal where you don’t have to make the last payment if all your other payments are on time.  

this is NOT a reduction of indebtedness

the buyer “paid” for this in the price of whatever was purchased.

this is considered a price adjustment rather than forgiveness of debt

The Kirby rule also does not apply if the loan amount is disputed, and the parties settle on a reduced amount.

Crane p165, Tuftsp173:  Taxpayers must include the buyer’s assumption of the nonrecourse debt in the sale amount, even if that amount is greater than the fair market value.

We pretend the buyer gave the seller a check for the amount of the loan, and the seller used that money to pay off the mortgage.

Basis= cash paid + amount borrowed

Amount realized= cash received + full amount of debt relief

the value of the encumbered property at the time of sale is irrelevant in calculating the seller’s amount realized.

the buyer’s new basis will include the assumption of the indebtedness assumed (whatever amount is owed on the mortgage) plus whatever buyer paid. §1012.

Buyer’s new basis= cash paid + full amount of debt relief

EX: 

§108 exceptions

a financially troubled taxpayer may exclude discharge of indebtedness income to the extent of his insolvency. 

discharge of certain student loans is excludable

O’Conner’s alternative from Tufts

Amount realized=FMV at time of discharge.

Amount realized – basis = gain; capital gain.

Amount of loan over FMV is “income” under the discharge of indebtedness principle.

income is ordinary income, taxed at a higher rate than capital gains.

§102/Duberstein:  discharges of debt that are done out of disinterested generosity are not taxable income.

Bargain sales to charity are treated as part sale and part gift.

Sale price / FMV = x%

X% x basis= sale amount

Amount realized – sale amount = deductible gift

Illegal Income

General rules

Ordinary income is taxable

if you embezzle money, the money is taxable income.

ordinary expenses are deductible!

with the exception of §280E, expenses for drug related costs are not deductible

claiming a loss is allowed...but, why expose yourself to criminal prosecution to do it? 

Gilbert was weird b/c it wasn’t clear that this guy intended to embezzle the funds.

he secured the withdrawal with his own assets

it’s more like borrowing, even though it was illegal.

he notified people of the w/drawl contemporaneously

his behavior is inconsistent w/ an intent to actually keep the funds

(even tho it was definitely illegal and he left for Brazil for 6 mos.)

Realization of Income

3 steps to realization, or recognition of gain on disposition of property.

1) there is income, in an economic sense

an accession to wealth, an enrichment, an appreciation in value

2) realization event 

“clearly realized” from Glenshaw Glass

 we need an appropriate moment to account for economic gain that has accrued over the time taxpayer has held the property.

3) Recognition is proper, and not subject to a non-recognition provision (§1031, §121, etc.)

Cottage Savings: when property is “materially different” it is clearly realized.

The transactions resulted in “legally distinct entitlements”, because the mortgages were for different homes, in different neighborhoods, for different buyers, etc

Express nonrecognition provisions for involuntary conversions §1033

Involuntary conversion of property occurs when property is destroyed by theft, fire, requisition, condemnation, seizure from eminent domain, etc.

involuntary conversion is a realization event.

Taxpayer may defer recognition to the extent that the amount realized is re-invested in property that is similar or related in use within 2 tax years. §1033

Recovery can include damages awarded in tort, it doesn’t have to be an insurance payment.

gain recognized is the lesser of: 

a) gain realized (ceiling) or 

b) amount of the recovery that is not reinvested in similar/related property.

No tracing necessary.

Example

Taxpayer has real property w/ basis of $400k. 

FMV is $1M. 

Building burns to the ground. 

Recovery from insurance company is $800,000. 

Gain realized= $400,000 (basis - recovery)

After recovery, taxpayer erects a new building for $1,200,000. 

Taxpayer has invested the entire recovery in a related building w/in 2 years, so she does not recognize any gain.

Amount of recovery not reinvested=0

0 < 400k

basis in new property = cost of new building minus unrecognized gain.

unrecognized gain must be included in the basis for the new building

Example:

New basis= $1,200,000 – 400,000 = $800,000

Express Nonrecognition provision for gain on the sale of a home

§121 excludes the gain from a sale or exchange of a home when:

1) taxpayer owned the home and used it as primary residence for periods aggregating in two years over a five year period.

I.e., the sale of a vacation home usually does not qualify for the exclusion

2) Maximum excludable amount for one individual= $250,000 (§121(b)(1))

Married persons filing jointly may exclude $500,000 as long as they both independently meet the residence requirement. (§121(b(2))

Excess is taxable

3) taxpayer may only exclude such gain once every two years (§121(b)(3)(A))

UNLESS, the sale is a result of change of place of employment, health, unforeseen circumstances. (§121(c)(2)(B))

4) If taxpayer does not meet time requirements but did use the home as a principal residence, and the sale/exchange of the home was due to change of employment, health, unforeseen circumstances, then taxpayer may exclude part of the gain.

Use a ratio to determine how much taxpayer may exclude: 

$250,000 / 24 = 10416.6666 x (# of months taxpayer lived in the primary residence.)

Express Non-recognition Provisions for 
Like Kind Exchanges

§1031 provides for nonrecognition of gain or loss realized on the exchange of like-kind property that is used in trade or business or investment property.

principal application is to real estate exchanges

watch out for limitations: does not apply to stocks, inventory, etc.

This is not elective, if the requirements are met the taxpayer must follow the section.

It’s NOT tax forgiveness; It’s tax DEFERRAL.

Applies only to “exchanges,” not sales.

if property is sold for cash and then used to purchase property of like kind—the exclusion does not apply and taxpayer must pay taxes on the cash received.

“Like-kind” property

Definition is excruciatingly detailed. The vast majority of like-kind exchanges involved real property.

Real property is always like-kind with other real property.

Reg. §1.1031(a)-1(b)  indicates that all real property, developed or undeveloped and commercial or residential, qualifies as “like kind.”

Both the property held and the property received  must be held for productive use in a trade or business, or for investment.

§1031a1

We evaluate this on a taxpayer by taxpayer case basis.

If A and B are exchanging.  A might be able to use 1031 while B can not.  B’s disqualification does not preclude A from using it.

Ex: If A has rental house, wants to exchange with  B  who is living in a house. A will use the property received as rental house.  A can use §1031 but B may not.

KEY RULES: 

Basis is the original purchase price.

Amount realized is the FMV of the LKP received, plus the net debt relief (if any), plus the FMV of boot received (if any). 

Gain realized is amount realized minus the basis in the original property.

Gain recognized will be the lesser of either gain realized or FMV of boot received.  This is capital gain.

Any net reduction in debt is treated as cash received and thus, is treated as boot for purposes for determining the gain recognized in the exchange.

When a taxpayer gives boot in an exchange, he must recognize gain on that boot. His gain is the FMV of the boot minus his basis in the boot.

Basis in new property:  The taxpayer’s basis in the newly acquired property is the sum of the basis in the original property, minus the total FMV of boot received plus the gain recognized.

Basis in new boot: Boot received in a like-kind exchange always takes a basis equal to its fair market value at the time of the exchange

When Boot is involved

Assumption of a mortgage debt= boot

When both properties have mortgages, use the NET amount of boot received:  amount of mortgage turned over – amount of mortgage assumed = net boot

Amount realized on the original property includes the amount of the mortgage the buyer is assuming on the original property.

EX: A bought Swamp view using $175 cash and $150 mortgage. The current FMV is $290.  A exchanges Swampview for Oceanview.  Oceanview’s FMV is $220, but it is subject to a $80 mortgage.  So, A is going to assume the $80 mortgage on Oceanview, and buyer is going to assume the $150 mortgage on Swampview.

A’s amount realized= FMV of Oceanview + amount of mortgage buyer assumed on Swampview– amount of mortgage A assumed on Oceanview.

A’s amount realized= $290

Basis= $175

Gain= $115

But, A has only received $70 in boot ($150 mortgage -- $80 mortgage).

So, only $70 gain will be recognized.

If there is boot, and there is a gain, we only “recognize” the gain up to the FMV of the boot. (§1031b)

The value of the like kind exchange is still not recognized, but the cash value amount is recognized and taxable.

EX:  A buys an apartment building for $60.  It is now worth $100.  He exchanges it for another apartment building worth $90 and $10 in cash.  He must pay taxes on the $10 gain.

EX: basis = $60 (old basis + recognized gain – cash received).  So, the gov’t will still get its taxes on the total amount he made.

If there is boot, and there is a loss, the loss is not recognized.

Instead, the loss is applied to the basis.

EX:  A buys an apartment building for $120.  It’s now worth $100.  He exchanged the building for another one worth $90 and $10 in cash. He does not pay taxes on the $10.  Instead, the $10 is used to reduce his basis. 

Calculating basis in the newly acquired property when boot is involved.

Remember: Account for the boot on both sides of the transaction!

The party receiving the boot must adjust his basis in the newly acquired property:  

Basis in newly acquired property= basis of old property -- FMV of boot + recognized gain (up to amount of boot)

OR

Basis in old property + recognized gain or boot, whichever is less = total amount in property #2.  THEN, total amount property #2 – FMV boot= new basis for newly acquired property.

EX: In the Swampview example above...

A’s new basis in Oceanview = old basis in Swampview – net boot received + recognized gain. 

$175= 175 -- $70 + $70.

This is perfect, because A’s gain was “really” $115 in the exchange. We left him off the hook and only made him pay $70.  When he sells Oceanview for $220 (FMV), his gain will be $45 ($220-175).  He already paid $70 of the $115, so now we make him pay the remaining $45.

the party paying the boot adds the FMV of the boot to the basis of the property he acquired in the exchange. (Basis of orig prop + FMV of boot paid = new basis of acquired prop).

EX:  B bought Farm1 for $140k.  The farm’s FMV is $180.  B gives the farm to A in exchange for Farm2, along with $70k, and B assumes the $60k mortgage on A’s farm.  B had to add the boot because Farm1 had a FMV of $310k.

B’s basis in Farm2= basis in Farm1 (140k) + amount of boot paid (70k +60k)= $270k.

If B sells Farm2 right now, he will have a recognized gain of $40k.  ($310-$270).  This is exactly the same amount of recognized gain he would have made had he sold Farm1. 

KEY: The FMV of the newly acquired property, minus the new basis of the newly acquired property, should equal the amount of gain heretofore unrecognized by virtue of this section.

Employee Stock Options

Employer gives employee, in consideration of employee’s services to the employer, the option to buy a specified number of shares of the employer’s stock at a specified price during or at the end of some specified period.

cannot be transferred

can only be exercised at the end of the term.

§422—favorable treatment for “incentive stock options” ISOs

Taxpayer pays capital gains taxes on stock when he sells them.

Basis= exercise price.

To qualify as an ISO:

 the employee must be required to retain the stock for two years after the grant and one year after receiving it.

the option price must be no less than the FMV at the time of the grant.

The option must be granted pursuant to a plan approved by the company’s stockholders

Stockholders must receive info about how many shares will be granted and who will be covered.

Using FMV of the stock on the date of the grant, one individual may hold a maximum of $100,000 in unexercised ISOs.

§83--Nonstatutory stock options

Applies to stock options that do not qualify as ISOs.

83(a): Taxpayer must include, as ordinary taxable income, the value of the property at the time it vests minus the amount the employee paid for it (if any.)

It “vests” when it is either fully transferable or not subject to any substantial risk of forfeiture. (i.e., no conditions).

this is compensation, so it is ordinary income. Not capital gains.

Employee’s basis is the value of the property at the time of inclusion.

employer deducts the compensation when the employer includes it. 

Allows taxpayer to defer the taxes until the conditions are met.

83(b): Taxpayer can elect to pay taxes on the value of the property at the time of transfer  minus the amount he paid for it (if any)...so that any appreciation in the property after the election will qualify for capital gain rates.

FMV is determined without regard to the restrictions on the stock.

Amount included in income becomes taxpayers basis in the stock.

If taxpayer subsequently loses the stock, because the conditions are not met, she cannot claim a deduction.

If taxpayer does not use the 83(b) election, he will pay ordinary taxes on all the appreciation that occurred after the property vested.(under 83a)

By making this election, the taxpayer is betting that the burden of accelerating the taxes paid on the property will be more than made up by the tax savings of converting the appreciation of the property into capital gain

§83 special rules for stock options: 

 If the option has a “readily ascertainable fair market value”, §83 applies.

Taxpayer may wait to pay taxes if there are conditions attached or may make 83b election.

FMV of options is ONLY “readily ascertainable” if it is actively traded in an established securities market. (Reg §1.83-7)

If the option has a readily ascertainable FMV, and there are no strings attached to it, the employee is taxed on the value of the option in the year of receipt.

We treat the employee as if she received cash and purchased the option.

When she exercises the option, her basis is the amount of income she already included, plus the amount she paid to exercise the option.  Anything above that amount is taxable capital gains.

If the option does not have a “readily ascertainable fair market value”, §83 does not apply.

If the stock is not traded on the open market, it is virtually impossible to meet all the conditions required to show that it has a readily ascertainable FMV.

If we allowed an employee to make an 83(b) election on options that have no readily ascertainable FMV, the employee could abuse the rule by understating the value of the option and reduce the amount of taxes owed.

The 83(b) election would allow the employee to convert all the appreciation in the stock after the grant date into capital gains.

INSTEAD, §83 applies when the employee exercises the option or sells the option.

??? it must be included in ordinary taxable income by the employee and it may be deducted by the employer in the year of the grant. Any gains made on the sale of the options are capital gains.

compensatory stock options usually do not have a fair market value at the time of issuance.

So, there is not tax consequence at the time of receipt.

Instead, when the ee exercises the option, the employee is taxed on the spread of the exercise price and the value of the stock.

aka “mandatory includability”

this rule does not apply, (taxpayer is not taxed at issuance) if the option is nontransferable and is subject to a substantial risk of forfeiture.

Substantial risk of forfeiture exists when the employee’s rights to full enjoyment of the options are conditioned upon future performance of substantial services by the employee.

UNLESS, the employee elects taxation. (§83(b))

Aka “elective includability”

FMV is determined without regard to the conditional restrictions

Otherwise, taxpayer pays taxes on the options when they become transferable OR when it ceases to be conditional.

Options are not taxable when they lack readily ascertainable fair market value. (§83(e)(3)).

this is almost always the case.

Options that lack readily ascertainable FMVs at the time of grant are taxed when they are exercised.

the difference between the exercise price and the FMV of the stock is treated as salary compensation.

Transfers Incident to Divorce or Separation

§1041: no gain or loss shall be recognized on transfers of property between spouses or incident to a divorce.

The transfer does not give rise to a deduction for the transferor nor does it result in the recognition of a gain by the transferee

The transferee takes the transferor’s basis in the property. §1041(b)(2)

Even though we’re treating it like a gift, the gift rules of §1015 do not apply per §1015(e)

property shall be treated as acquired by the transferee

“incident to a divorce” requires the transfer occur 

Either within one year of date of separation

Or be related to the cessation of marriage. 

This is satisfied if transfer is related to divorce agreement AND occurs within 6 years of the divorce date.  

Limitations on §1041

If hubby buys bonds, defers taxes on the interest earned by the bonds, then gives bonds to exwife:

interest accrued from the original date of purchase of the bonds until the date of transfer is included in A’s gross income.

Alimony

If it meets certain requirements, it is taxable to the recipient and deductible to the payor. (§71)

1) It must be in cash.

It may not be in property

Property settlements, or “once and for all” settlements, are not deductible.

2) It must be transferred pursuant to an instrument of divorce or separation.

Oral agreements will not do.

3) The parties must not have agreed that the payment will be nontaxable to the recipient and nondeductible by the payor.

The parties may elect to treat the alimony as nonalimony.

4) Parties must not be in the same household.

5) Payments must end with recipient’s death.

If payments continue beyond recipient’s death, the payments must not have been for his/her support and therefore not alimony.

It doesn’t necessarily render the entire decree invalid, it only disqualifies the payments that go beyond  death. It’s not an all or none scenario. 

Find alimony where it is alimony at the moment of the decree. Any amount that continues past recipient’s death is not alimony. Remainder can be alimony.

6) The payments must not be for child support.

If payments end when a child dies or turns 18, the payments will be treated as child support.

7) Payments must have some degree of “periodicity”, or they must be substantially equal for the first three years.

Once and for all payments, or installment payments are not alimony. Regular support payments are alimony.

Recapture rule:  If alimony payments in the first year exceed the average payments in the second and third year by more than $15,000, the payor must include that amount in income (not deductible) and the recipient may deduct that same amount.

If the payments in the second year exceeds the payments in the third year by more than $15,000, the payor must include the excess and the recipient may deduct it.

EX: Hubby pays wife $50k in year 1, nothing in year 2 or year 3.  Hubby deducts the $50k in year 1.   Year 1 payment exceeds year 2 and year 3 payments by more than $15k.  The excess is recaptured.  (Excess- $50k-15k= 35k).  Hubby must include $35k in year 3 and wife may deduct $35k in year 3.

Purpose is to deprive people of the incentive to convert property settlements into alimony

Must wait until Yr3 to know what the front loading consequences are, if any.

Recapture rule is not triggered if one spouse dies, or if the recipient remarries (terminating payments).

Result= incentive for divorcing spouse to characterize as much of their transfer as alimony as possible.

Payor is usually in a higher tax bracket than payee.

Payor likes to get the deduction. So payor wants to characterize as much as possible as alimony.

The more payor gives in alimony, the more the payee receives. Payee pays less taxes, so payee takes home more.

Child support is not deductible by the payor and not taxable to the recipient.

If hubby doesn’t pay child support, wife is not entitled to deduct that amount as a nonbusiness bad debt. (p315).

She is not “out of pocket” any money, so she has no basis.  If a TP has no basis in an asset, there is nothing to deduct.

If hubby owes child support, and gives wife stock instead of cash, the transfer is a realization event. (p317)

Hubby must pay taxes on the ‘gain’.  So, if the stock was worth $10k and his basis was $1k, he is going to pay $9k capital gains on the transfer. p317

The wife’s basis will be FMV at the time of transfer.  If it’s worth $10k on date of transfer and she sells it for $9k, she will have a capital loss of $1k.

Note, this is the rule from Davis.
If hubby owes child support, and he borrows money from a friend to pay it, then stiffs the friend—the friend has a deduction for a bad debt. (p317)

Hubby will include loan amount in income per Kirby Lumber.

Friend will deduct loan amount under §166d.

If hubby owes child support and pays it, then borrows it back for an emergency, then dies—wife gets a deduction. (p317)

Hubby’s estate must include the amount as income from the discharge of indebtedness.

Wife gets a deduction as a capital loss under §166(d).

If hubby owes child support and gives wife a promissory note to pay it, then he dies destitute—wife gets a deduction. (p317)

A promissory note is a written instrument that can be converted into cash by selling it to a 3rd party.

The exchange of the right to child support for the promissory note is a realization event.  Therefore, under the equal exchange hypothesis, the wife has a basis in the promissory note for whatever it’s value is.  When the promissory note becomes worthless she is allowed the deduction. 

Hubby’s estate must again pay the taxes on discharge of indebtedness

If hubby owes child support and gives wife a promissory note to pay it, and wife sells the promissory note to X, then hubby dies destitute—X has a deduction.

If wife sells the promissory note for less than face value, she has a capital loss in that amount.  The face value was her basis. 

X has a capital loss in the amount he paid for the promissory note. 

Hubby’s estate must pay taxes on the full amount for discharge of indebtedness.

Transfers among same-sex partners are realization events that can triggers gains and losses.

§1041 does not apply, the rules from the Davis case apply: transfers in settlement of legal obligations are realization events

Recipient’s gain will always be zero.

Generally, a person’s basis is what she paid for it. 

The cost here was giving up her marital rights. The cost of giving up those rights was the FMV of the property received, or else the recipient would not have agreed to the exchange. 

Transferor must pay taxes on the gain b/c the transfer is a realization event.

TP has stock with basis of $10,000. He transfers the stock to settle the dispute. The stock has FMV of $50,000. TP is realizing a value of $50,000 so he must pay taxes on $40,000.

Personal Deductions or Adjusted Gross Income

AGI= gross income – personal deductions.

Deductions are only relevant when taxpayer has actually expended some money. 

The question is whether the tax system should recognize the expenditure by reducing taxpayer’s income.

If TP is an employee who has been reimbursed for an expense, then TP has spent nothing and therefore is not entitled to a deduction.

Fundamentally different from exclusion even tho you wind up in the same tax result.  

exclusion refers to a situation when someone has received something of value 

the Q is whether the taxpayer must include the amount in income. 

Value of deductions is always the product of : amount of deduction multiplied by taxpayers marginal tax rate.

Ex:

Deduction is $100

Taxpayer is 35% tax bracket.

Value of deduction is $35. 

value is not in the deduction in and of itself.

He had to lose $100 to get the $34 “savings.”  So you’re still “out” $65. 

Valuable only when taxpayer is engaging in activity he would engage in anyhow, and he is going to get the “bonus” of getting the deduction. 

If going out to dinner is subjectively valued by taxpayer at $80.  But dinner costs $100. We make it deductible so he winds up only paying $65, now it’s worth it to him to go out to dinner.

allows for the best measure of income.

Some deductions are necessary to get this result like business expenses. We want to tax profits from business, not just receipts.

allows for the best measure of ability to pay

if taxpayer has significant outlay in one year we want to account for that.

allows implicit subsidies for activity we believe desirable.

Retirement savings

Home mortgages (all interest paid is deductible w/in dollar limits, and §121)

§62 lists personal deductions

standard deduction this year $10,700 for married

taxpayer must itemize these deductions:

state and local taxes

home mortgage interest

casualty losses

medical expenses

charitable contributions

if these exceed standard deduction taxpayer will itemize.

Another term for these deductions is “below the line” deductions.

§67 puts a 2% floor on miscellaneous itemized deductions.

The aggregate of these deductions must exceed 2% of AGI before you can claim them.

Two significant deductions this applies to: 

unreimbursed employee expenses and 

investment expenses.

§68 phases down itemized deductions as income increases

Itemized deductions will be reduced by 3% of the excess of AGI over the threshold amount.

threshold amount this year is $156,400

EX:

TP’s AGI was $196,400 he would have an excess of $50,000 over the threshold.

That excess multiplied by 3% is $1,500.

That person will lose $1,500 of itemized deductions.

EX:

TPs AGI is $356,400.  His income exceeds the threshold by $200k. $200k x 2% = $4,000. She must reduce her otherwise allowable itemized deductions by $4,000.  Just subtract this amount from the total deductions. 

Following this to logical conclusion you’d hit zero, but it’s capped: Taxpayer is always entitled to 20% of otherwise allowable deductions. 

The phase out does not apply to medical expenses and casualty losses, but applies to all other itemized deductions.

§162(a): there shall be allowed as a deduction all the ordinary and necessary expenses paid or incurred during the taxable year in carrying on any trade or business.

Read “necessary” as broad, not as in essential, but as “related to.”

Remember, if the expense incurred contributes to a “Current expense” then it’s immediately deductible in the year in which it’s incurred. 162(a)

If it’s deemed a “capital expenditure” (remember airline route authorities case) it must be capitalized which means instead of immediately deducting them, they must be added to the basis of the asset. 

If the  “primary purpose” of the expense is related to business purposes, then it’s deductible.

Look at subjective intent of the taxpayer in the expenditure. 

Use external objective indicia to determine it. 

Is this the type of expense people normally consider a business expense, by its nature.

did taxpayer incur the expense b/c of the business interest. I.e., He would not have incurred it but for the business interest.

If TP incurred the expense b/cit was convenient for him, then it might not qualify. Like the case where the guy tried to deduct 300 meals at a café where he had lunch with colleagues and no clients—it was not deductible. 

p443, examples of lunches with clients/associates/partners to consider frequency and power dynamic.

 If the primary purpose is personal, then not deductible.

Therefore, purely business related expenses are fully deductible.

The only question is timing of the deduction.

If the expense is a meal, amusement, entertainment or recreation then we must also pass §274.

we impose additional limitations on deducting these expenses b/c we’re worried about abuses.

Activity must be immediately preceded or followed by a business discussion.

Expenditures purely for good will are NOT allowed.

(3) Ex. Potential client that you hate. Yet, you take him out to dinner, to theatre, don’t talk about business—it doesn’t meet the stricter criteria of §274. 

Substantiation requirements 

(4) Like reimbursement forms.

(5) When an employee provides substantiation to an employer, that satisfies §274. 

If the expense passes §274, then TP may deduct 50% of the expense.

Traveling expenses for business are deductible.

§162(a)(2) allows deductions for traveling expenses when three conditions are met:

the expense must be a “reasonable and necessary traveling expense”

the expense must be occurred while “away from home”

The expense must be incurred in “pursuit of business.”

Tax credits for commuting not allowed: A person may not deduct transportation costs incurred in commuting to and from work.

Temporary employment doctrine applies when taxpayer lives in A, works in B, and has business ties to both. 

Applies for one year or less.

Ex: If lawyer lives in Boston, and lives in NY temporarily while in a trial, those living expenses can be deducted. 

The taxpayer must reasonably expect and actually be away from home for less than a year.
The moment it becomes clear to TP that he will be there more than one year, the expenses after that moment are not deductible.

§262(a): personal, living or family expenses are not generally deductible unless there is an express rule allowing the deduction, like for personal casualty losses.

Essentially polar opposite of §162.

There are other exceptions to §262(a). We are only talked about one, personal casualty losses.

Other personal itemized deductions include:

State and local personal taxes

Charitable contributions

Home mortgage interest

Extraordinary medical expenses

§165(c)(3) casualty losses

Losses of personal property from fire, storm, shipwreck, or other casualty, or from theft.

 “Suddenness” requirement results in various outcomes.

Ring slipped off while hunting: not deductible

Ring flushed down toilet w/ tissues: not deductible

Ring flushed down sink while in a glass soaking: deductible.

Ring smashed when wife’s hand smashed in car door: deductible

Diamond missing: deductible

Breakage of ordinary household equipment through negligence of handling or by a family pet is not a “casualty loss.”  Dyer v. Commissioner. p343

Termite damage does not qualify.

Dry rot does not qualify.

“Unforeseen” requirement.

Gross negligence by taxpayer precludes casualty loss deduction.

Can’t set fire to your own home and then claim a casualty loss deduction. Blackman v. Commissioner p352.

Compute the loss amount in this order:

1) the loss must be realized

2) the loss must not be compensated by insurance or otherwise

if it is compensated by insurance we use §1033, involuntary conversion, where gain is deferred until the sale. 

when there remains a reasonable prospect for recovery, then the loss has not yet occurred for tax purposes.  If TP is waiting for insurance payment, then the transaction is not final and closed, and the los is not yet deductible.

3) loss is the lesser of: the decline in FMV OR basis.

We can never have a tax loss that exceeds basis even if the economic loss exceeds basis.

4) then apply the limitations:

Take off $100 per casualty event

Generally one event in real life, watch for multiple events in problems.

Permit a deduction only to the extent that the aggregate of the losses exceeds 10% of AGI in that tax year

we want “true” dis-enrichment

Employee Reimbursement Scenario

Employee takes a business associate out to dinner and out to a concert.  Employer reimburses her for the dinner but not for the concert. 

Tax consequences to employee

If the reimbursement that she receives from employer is paying for an expense that would have been deductible under §162, then the reimbursement is excludable as a working condition fringe under §132(d).

Expenses are deductible under §162 when the primary purpose is related to business.

If the employee pays with her credit card, and gets some reward by using her credit card:

if the bonus is in the form of cash (like .05 cents back for every dollar spent), then the employee has received income.

it does not fall into any of the working condition fringes

even it it’s a small amount, when the excess takes the form of cash, it doesn’t qualify as a de minimus fringe so it’s income.

if the bonus is in the form of airline miles, she will enjoy those miles tax free because the IRS will not assert a deficiency based on employer provided miles.

If the employee is not reimbursed for the expense, and the expense falls within §162, she may deduct the amount.

§162 requires that the primary purpose of the expense be related to business.

But, expenses related to meals,entertainment, amusemtn, and recreation must pass the stricter test of §274.  

If the expenses pass, then she may deduct 50% of her “out of pocket” expenses.

Remember, if she received some cash-back bonus through her credit card company, you must subtract that amount from the amount she spent to arrive at her “out of pocket” expense.

Unreimbursed business expenses are miscellaneous itemized deductions, subject to the 2% floor set forth in §67,

Therefore, any unreimbursed expenses are only deductible if the employee itemizes her deductions, 

If the employee does happen to itemize, she may only deduct these expenses to the extent that it, combined with any other “miscellaneous itemized deductions,” exceeds 2% of her adjusted gross income for the year. 

Tax consequences to employer

The company can take a deduction in the amount that is reimburses the employee.

assuming it meets the “primary business purpose” of §162, and the higher test of §274 if necessary.

Tax consequences to client

We don’t really know.

The dinner and concert is not a gift, because it was not motivated by detached and disinterested generosity.

It’s not a §132 working condition fringe b/c it wasn’t provided by her employer.

although, we could argue that the dinner was provided to Nordstrom who transferred it to her, so she constructively received it.

Tax credits for child care and dependent care

Tax credits are taken after we determine what tax must be paid.

Different from a deduction.

§21

qualifying individual=

dependent under age 13

dependent spouse mentally/physically incapable of caring for self.

employment related expenses=

expenses incurred for the care of the qualifying individual that allow the taxpayer to work

summer camp does not count

Limitations on amount of expenses used in calculating the credit

$3000 for one qualifying individual

$6000 for two or more

Expenses cannot exceed the earned income of the taxpayer

If the actual expenses are less, TP is limited to using that amount in the calculation.

Applicable percentage

Amount of the credit declines as income rises

Maximum percentage is 35%

Minimum percentage is 20%.  Use this whenever AGI is over $43,000.

Therefore the maximum tax credit for a taxpayer making over $43,000 is $600 for one kid (20% x 3,000)  and $1,200 (20% x 6,000) for two kids or more.

Remember, the taxpayer only gets 20% of what he/she actually spent. 

§129 allows employers to give employees up to $5k per year tax free for dependent care assistance.

may be part of a cafeteria plan under 125

§129 allows the employee to exclude the amount

but if the employee takes this money tax free, he/she may not also get the tax credit under §21

$5,000 x taxpayer’s tax bracket = tax savings for taxpayer

TPs may combine §21 and §129

If TP accepts money from his employer for dependent care under §129, then he needs to subtract that amount from his expenses when he calculates his tax credit.

This will only work when TP has two or more dependents.

EX of combo:

TP pays $7,000 in child care expenses for two kids. TPs AGI is $50,000.  TP’s marginal tax rate is 20%. TP gets $5,000 from employer in a DCAP plan.  Using the exclusion under §129, TP saves $1,000 in taxes ($5,000 x 20%).  

TP is allowed to count expenses up to $6,000 for two kids under §21.  So, TP still has $1,000 left to use under that section.  His AGI is over $43,000 so we know his max applicable percentage will be 20%.  $1,000 left of credit x 20% is $200 of tax credit.

Capitalization

“Current expenses” are immediately deductible in the year in which it’s incurred. 162(a)

Such as pens, paper.

salaries 

“capital expenditures” must be capitalized which means instead of immediately deducting them, they must be added to the basis of the asset. §263(a)

This rule applies to wholesalers, retailers, manufacturers and any other TPs who produce real or tangible property for sale, or acquire real or tangible property for sale to customers, in their ordinary course of business.

Tangible property includes books, films, recordings

When we add costs into the basis, TP can recover two ways:

Wasting assets: depreciation is the method. (see next section).

Non wasting asset: cost is recovered upon disposition of the asset. 

(6) Ex: company must build a plant before it can make a chip. They spend millions to build the plant and the production will produce income over many years.  Recover the cost as the machines generate income. Matches the cost with the generation of income from the asset.

Capital expenditures are expenses incurred for an asset with a useful life beyond the year in which the expense was incurred.

The asset need not be a new asset; the expenses can contribute to an existing asset.

Ex: legal fees incurred by a company in connection to a merger or acquisition must be capitalized, even though no new asset is created.  Indopco Inc v. Commissioner p501.
Marketing costs, advertising costs, planning costs and general administrative expenses do not require capitalization.

they create value beyond the current year, but we have a flat rule excluding them from capitalization.

Reg §1.263(a)-1 and -2 (rules p570) indicates the following costs must be capitalized:

acquiring or constructing new buildings or machinery

making permanent improvements in property

securing a copyright

defending or perfecting title in property

architect’s services

commissions paid in purchasing securities.

direct labor costs

Repairs and improvements

If the expense lengthens the life of the asset beyond what could have been reasonable expected at the time it was originally acquired then it must be capitalized. 

If the expenditure just keeping the property alive as it was expected then it is immediately deductible.  Midland Empire p502.

If the repair is incidental and does not materially increase the value or the useful life of the repaired property, then the cost does not need to capitalized.

Capital expenditures within capital expenditures are capitalized in the overarching project.

Commissioner v Idaho Power

Trucks purchased to build a power plant. The depreciation on the trucks needed to be capitalized over the life of the power plant.

Ex: Truck costs $10,000.  It has a useful life of 10 years.  If the company took straight line depreciation for the truck, it would depreciate $1,000 each year.  This amount, however, was not deductible each year. Instead, the amount was added to the basis of the new plant.  The company would recover this cost when it put the new plant into service and began taking deductions for the depreciation of the plant. OR, if the company sold the plant, it would recover the amount then. 

Manufacturers and sellers (wholesalers or retailers) must capitalize inventory costs and recover at the sale.

EX:

Homebuilder capitalizes costs of construction and recovers upon the sale of the house. Wages of construction workers would be capitalized.

Vs. a roofer who is providing a service. The roofer doesn’t own the roof. The building owner owns the roof. There is not capitalization of providing a service.

Law firm deducts wages of lawyers immediately. But the client must capitalize the cost of the legal work b/c they are creating the company/merger. 

vs. if the company hired the firm to defend the company in tort litigation, that expense is not being used to create a long lived asset. It’s a current expense.  

This rule applies to personal assets, 

The incentives are reversed, so individuals prefer capital expenditure b/c she can exclude an additional amount as recovery of basis.

One place it matters most is homes.

ppl will want improvements on their homes to be considered capital expenditures.  So if you exceed your §121 allowance you can exclude a larger basis in computing the taxable gain. 

Home repairs (current expenses) vs. home improvements (capital expenditures)

Ordinary wear and tear repairs

Broken window

Vs. improvements which substantially alter the asset.

Adding an extra floor to the house

Replacements that appreciably prolong the life of the property are capital expenditures.

Reg 1.162-4 outlines the distinction.

What’s in between is murky.

If you replace most of the root, it’s a repair. If you replace the entire roof w/ new material, its an improvement.

Depreciation

Depreciation is an allowance in the form of a deduction for the expected decline in value due to ordinary wear and tear or obsolescence of an asset used in business or to produce income. §167

Only applies to assets for which there is expected wear and tear or obsolescence. That is, wasting assets.

No depreciation for non wasting assets. Instead, that is recovered upon disposition.

Land is a nonwasting asset.

Depreciation is only relevant with assets used in a business or assets used to generate income.

If it’s used for personal uses, that is personal consumption. That is not deductible.

From a tax perspective, ppl buy homes to live in them, not to produce income. The fact that most homes are investments is coincidence. Home are personal assets. 

Depreciation calculation and deduction begins when the asset is placed into service.

Depreciation does NOT begin when the asset is acquired.

Depreciation calculation and deduction continues throughout the asset’s “useful life.”

we need to have a timeframe over which we recover the basis.

Depreciation deductions are only available if the property’s useful life is definite and predictable. 

for almost all assets, the useful life is dictated by the code.

depreciation occurs over that useful life.

Straightline deductions method is the easiest way.

original cost of the asset divided by # of years in the useful life = deductible amount per year.

Deduction is the same amount every year. (like §72 annuities)

Caps the deduction to the taxpayer’s actual cost or amount paid.  Cost includes borrowed funds.

Applicable “conventions”

what do we do in the first and the last year of the asset’s use b/c we aren’t going to use it all year?

mid year convention

used for tangible personal property

deem that it was placed in service in the middle of the year

TP gets half of the otherwise allowable deduction in the first year and the last year

for the first year the asset is in service, the rate is half of what it would be for a full year. We treat the asset as if it were put into service in exactly the middle of the year w/out regard to when it was actually put into service.

mid month convention

use for real estate

we deem it was put into service in the middle of the month. 

You get half of the month and then the rest of the year.

Tangible personal assets placed in service after 1980 are depreciated to the ACRS rules set forth in §168 

Personal tangible property is depreciated through double declining balance method, w/ cross over when straight line becomes higher deduction. 

3 yr, 5 yr, 7 yr and 10yr personal property is subject to 200% declining balance method.

15 yr and 20yr personal property is subject to 150%  declining balance method with a switch to the straight line method when that produces larger deductions.

Computed using the mid year convention

Real property requires straight line method.

Residential rental property recovery period is 27.5 years.

Other real property recovery period is 39 years.

value the building as a whole, not in individual components.

The first year deduction is pro rated according to the number of months during which property is in service during the year. 

In the year of disposition, the deduction is prorated.

Intangible assets created in-house are subject to §167

Ex: patents, copyrights

Self-created Goodwill is not depreciable.

We use the word “amortization” instead of depreciation when talking about deductions for intangible assets.

Not eligible for accelerated depreciation.

Must be depreciated on straight line method.

Intangible assets purchased from a third party are subject to §197

When a company buys another company, any amount over the value of tangible assets is assigned to intangible assets.

Ex: goodwill or “going concern.”  Represents elements like loyal customers of a restaurant, patents, copyrights, skilled employees,etc.

The statute provides for a 15 yr amortization of a list of intangible assets when they are purchased from a third party:

goodwill

going concern value

value of the work force

current relationships with customers/suppliers

patents/copyrights

films/sound recordings

The depreciation clock restarts when depreciable property is transferred.

EX: 

company buys a commercial real estate building. (39 yr depreciation schedule).  The owner depreciates it for 10 years, then sells it.  The clock restarts for the new buyer if we are talking about an arms length transaction/sale. Doesn’t matter what condition the building is in.

exception for gifted property: recipient steps into the shoes of the donor.

The basis for a recipient of an inter vivos gift is carry over. The recipient steps into the shoes of the donor. 

This is also true for depreciation calculation. The recipient steps into the shoes of the donor.

The clock keeps on ticking instead of restarting.

Exception to the gift exception: clock restarts for gifts at death.

Property transferred at death has a basis of FMV.

This is also true for depreciation of calculation. We restart the depreciation clock for the recipient.

Depreciating improvements is a timing question.

If TP acquires asset, makes improvement, then puts it into service—TP includes the cost of improvements in the basis when he begins to depreciate it. 

It’s treated as one asset.

If TP puts asset into service, then make improvements-- the improvement are separate depreciable assets. 

They are depreciated over the same rules but treat it as a distinct asset. It’s more complicated.  

EX. TP buys a commercial building. He depreciates it for 4 years. He puts a new roof on. The building has 35 years left. The roof is a separate asset and has a 39 year schedule from that point forward.

Recapture rule applies to sale of tangible depreciable personal property.

like trucks, computers

does not apply to real property

transforms capital gain into ordinary gain. ( 

TP pays less % on capital gain, and capital gains can be offset by capital losses. So, we like them as compared to ordinary income.

If TP has gain on the sale of tangible depreciable personal property, to the extent the gain is recapturing previously taken depreciation deductions, it must be treated as ordinary income.

The deductions reduced TPs ordinary income.  So if the deprecation deductions were in excess of the actual depreciation, the TP needs to give it back.

Ex. Buy a truck for $5k. Depreciate it to $3k. Sell it for $5,000.  TP has a $2,000 gain. This is ordinary gain.

To the extent the gain is over and above the original acquisition cost, the gain is capital gain. Gain below the original cost is ordinary gain.

Ex. Buy a truck for $5k. Depreciate it to $3k. Sell it for $6,500.  You have a $2,500 gain. $2,000 is ordinary gain. $1,500 is capital gain.

Does not apply to real property.

If the property is worthless, TP can take a loss.

TP can take a loss when it is completely abandoned.  

TP amount realized is $0.  Subtract TP’s basis at that point and recover it as a loss.  

If TP has depreciated it to $0 basis, then he has a wash and no loss.

Investment tax credits

Gives TP a one time credit upon purchase of a qualifying asset.

Credits result in a dollar-for-dollar reduction in taxes owed, whereas a deduction reduces the taxable income.

Recognition of Losses

Realization events

Nature of the question=

is there a realization of loss on property without an exchange. We have intangible property that hasn’t been exchanged but is worthless. At what point is the taxpayer holding it allowed to take a deduction?
KEY: the asset must have been totally and completely abandoned before the taxpayer can characterize it as a tax loss.

“a loss must be evidenced by closed and completed transactions, fixed by identifiable events and actually sustained during the taxable year.” §1.165-1(d)

TP must completely abandon the wasting asset and the activity related to it before TP can take the deduction. 

Ex: you have one of ten liquor licenses. City opens it up so anyone can get one now. You must stop selling alcohol completely before you can take the deduction.

Ex: you own land. The city has zoning ordinances letting you use it for 20 reasons. They change the zoning so you can only use it for 1 reason. You must sell the land before you can take the deduction.

Rev Ruling 84-145 (p238 in text) Re: route authorities for airlines

Airlines incurred costs in acquiring the routes during the period of regulation. (lawyers, lobbyists, etc.). Worth nothing after deregulation. 

IRS says airlines are not entitled to a tax loss.

KEY:  taxpayers may not take deductions for losses when their basis in the asset is zero.  You cannot have a negative tax value.

If we have no basis, you can’t have a tax loss.  

You may have an economic loss but not a tax loss

Selling short against the box p241

Previously, a legal way to  get the benefit of cashing out and reinvesting without paying the tax consequences.

EX: ee gets into a start up and gets tons of stock. Now, ee has $10M value of stock.  Basis in the stock was only $100,000.  She wants to diversify. But she doesn’t want to take a huge $9M gain.

solution: taxpayer borrows $10M worth of stock from the investment bank.  She must repay in shares, not money.  Then she sells the borrowed shares for $10M. She has no gain b/c she has sold someone else’s stock, not her own stock. She has $10M in cash. The moment she needs to repay in stock, she turns over her stock to the lender. It’s a “synthetic sale” or a ‘constructed sale”.   When taxpayer repays the loan, she will have to pay on the gain but that may happen years and years later. 

§1259 now treats this transaction as a sale. 

Losses are calculated each year, not each transaction or business deal.

we use annual accounting instead of transactional accounting.

Example of transactional accounting:

Burnet v. Sanford & Brooks (p126)
S&B was in business of dredging. It was dredging Delaware river. Their expenses exceed the revenue they were getting from the gov’t K. They sued the gov’t and recovered the amount later. 

Let’s assume this was the only project S&B was working on.

1913: $60k negative income, b/c costs exceeding income.

1915: $60k negative income

1916:  $56K negative income

1920: judgment of $176,000 for S&B. What do we do  here?  S&B says no income because the entire project is a wash.

IRS says it is income because we calculate our gains and losses each year.

Administratively much more complicated and much less certain.
§172 would address situations like this now. 

Taxpayers can carry over losses YoY and ultimately be allowed to deduct it. 

Replacement rule supports this treatment

The amount they won in court was intended to replace profits; money S&B would have had to pay taxes on had they received it in the course of business.

This is money they were required to report no matter when they received it. This was income. This is a pure problem of mismatching of incurring the expenses and acquiring the revenue.

Net operating loss carry overs

§172 allows carry over and carry forward of net operating losses.

not all income can be carried over.

Legislative response to avoid the unfair result in Burnet v. Sanford & Brooks (p.126)

§172(d) puts modifications on what TP is allowed to carry over

In computing NOL from a given year, you can’t use NOL from other years to compute that, 

b/c if you did there would never be any limit. You can’t stack them on top of each other forever.

NOL doesn’t affect computation of income. Rather, it tells us how to compute losses.

Ex: 2000: ($1M) loss. 2020: breaks even/0 income. If taxpayer can use remaining 20 year old $100,000

You can use the NOL as a deduction but you can not use it to compute a net operating loss in year 20 so that it “lives” on for another 20 years.

In computing NOL, do not count “personal exemptions” in NOL.

In computing NOL, count “personal itemized deductions” only to the extent there is nonbusiness income. §172(d)(4)

personal itemized deductions are things like the home mortgage interest deduction, charitable donations, state and local taxes.

Nonbusiness income is from things like dividends on stocks.

p129-131

Example computation of NOL:

#1

Salary: 60,000

Business loss: 100,000

personal exemption: 4,000

itemized personal deductions: 12,000

non business income: 5,000

This TP’s taxable income is negative $51,000 so he owes zero taxes.

This TP’s NOL is $40,000:

Business loss minus salary = 40,000

He only has $5k in nonbusiness income, so we can only count $5k of personal itemized deductions. They cancel each other out.

#2

Salary: 60,000

Business loss: 100,000

personal exemption: 4,000

itemized personal deductions: 4,000

non business income: 10,000

This TP’s taxable income is negative $38,000 so he owes zero taxes.

This TP’s NOL is $34,000

Business loss is 100,000

minus salary: 60,000

minus (nonbusiness income 10k minus personal itemized deductions 4k )= $6,000

A NOL suffered in any tax year can be carried back to the previous two taxable years. §172(b)(1)

Procedure= TP files an amended return for the prior year, reducing his income for that year by the amount of the loss carryback. 

Result= tax refund for TP.

NOL is applied to the earliest possible year.

TP should carry back if tax rates were higher the two previous years than they are in the taxable year

A NOL suffered in any tax year can be carried forward up to 20 years §172(d)(1)

TP should carry forward if he thinks tax rates will be higher in the future.

If TP chooses to only carry forward he must waive both carry back years, AND he must max out the NOL in each following year until it’s gone. §172b3.

Ex: TP has $1k NOL to use in 2000. He waives carry back. He has $1k income in 2001.  He must use his entire NOL in 2001.  He may not choose to use only $500 of it in 2001 and then keep the other $500 for another year.

Individuals may not carry over negative income.

TP may only use non business deductions to the extent of non business income in the same year.  

Taxpayer amends his earlier return, reducing his income for that year by the loss “carryback.”

This is an exception to the rule (which normally allows amended returns only for mistakes)

This amended return produces a tax refund.

If taxpayer uses the carry back, any remaining losses after reducing the earlier income to zero are carried forward.

Claim of right doctrine 

When two or more TPs are fighting over income, the TP who has possession of income must pay taxes on it.

This is the “claim of right” doctrine.

Three pieces:

Taxpayer has the funds

Taxpayer treats the money as his own 

Taxpayer concedes no offsetting obligation.

Embezzlers know the money isn’t theirs, so this factor is not satisfied and no claim of right doctrine triggered.

Ex: North American Oil Consolidated v. Burnet (p131)

Dispute btwn fed gov’t and plaintiff over who owns the land, which is producing oil. Gov’t appoints a receiver to hold the money in 1916. Plaintiff takes gov’t to court. Court decides the $$ belongs to plaintiff in 1917.  Gov’t files appeals and loses. All appeals are exhausted in 1922.

Held: Plaintiff owes the taxes on the income  in 1917. The Court uses this year because that is the year that plaintiff had a claim of right to the money, and plaintiff actually “has” the money b/c the receiver transferred the money to plaintiff.  Plaintiff treated the money as it’s own at that time, and conceives no offsetting obligation. 

Ex:  Plaintiff sues Defendant for royalties that were wrongfully paid to Defendant.  Plaintiff wins. Defendant pays plaintiff in 2000.  Defendant still has the ability to appeal. Plaintiff must pay taxes in 2000.

If TP included income under this rule, and is later forced to give up the income, he will be able to take a deduction in the year he gives it up.

§1341 mitigates claim of right doctrine

if an item was included in income in a taxable year b/c of the ‘claim of right’ doctrine, and if in a later year it is shown that the taxpayer did not have a restricted right to that item then a taxpayer can use §1341 to deduct the item or take a tax credit for the item,  as long as it is valued at $3,000 or more.

as long as the deduction is $3,000 or more. (§1341)

i.e., he does not file an amended return because it was correct at the time it was filed, but it was rendered incorrect by a subsequent event. (US v. Lewis).

If TP’s tax bracket is lower in the year in which he has to give up/pay back the money (and pay the tax) , he may take a tax credit for the amount of taxes paid in the earlier year.

Ex: In 2000, TP is forced to include $20k of income under the claim of right doctrine. That year, his tax bracket was 35%.  So, he paid $7,000 in taxes.  In 2001, TP learns he must give the money back. In 2001, his tax bracket is 25%.  If he takes a $20,000 deduction, his taxes will be reduced by only $5,000 so he will be shorted $2,000.  As a result, instead of taking the $20,000 deduction, he takes a $7,000 tax credit in 2001 for the amount he paid in 2000.

Even though this is technically a tax credit, the rule is allowing us to “effectively” amend the earlier return to ensure that the TP has not overpaid his taxes.

If TP’s tax bracket is higher in the year in which he has to give up/pay back the money (and pay the tax), he may deduct the entire amount, based on this year’s tax bracket which results in a refund of more than what TP actually paid.

Ex:  In 2000, TP is forced to include $20k of income under the claim of right doctrine. That year, TPs tax bracket was 25%.  So, he paid $5k in taxes on this income. In 2001, TP learns he has to give the money back.  This year, his tax bracket is 35%. If he takes the $20k deduction, it will result in a $7,000 refund.  This means he gets an extra $2k back.  This is ok. This is the rule.

Any interest income TP earned by way of possessing the money is also taxable. §61(a)(4)

Tax benefit doctrine

If taxpayer takes a deduction, and then recovers the amount he deducted, he must pay taxes in the amount of the prior deduction.

TP must pay the taxes when an event occurs that is “fundamentally inconsistent” with the deduction.

Inclusionary tax benefit rule requires TP to include in income any tax benefit recognized in an earlier year when an event occurs that is “fundamentally inconsistent” with the deduction.

Ex: Alice Phelan Sullivan Corp. (p139)

company donated land to charity under condition that it would be used for educational/religious purposes.  Company claimed a deduction for FMV of the land.  20 yrs later, the charity gives the land back.  

Company must report income equal to the amount of the prior deduction, (not the FMV of the land at the time)

note how this doesn’t really make sense in the annual accounting method.  This is more like transactional accounting.

notice we don’t do what §1341 does to ask what the tax rate was that year, rather we ask what the amount deducted was.

Ex: Bliss Dairy (p139)

cattle company deducted the cost of cattle feed. It didn’t use all the cattle feed, because soon afterwards it sold the company’s assets (including the feed) and gave the proceeds to the shareholders. It didn’t use the feed in the manner in which it was supposed to be used (which is why the deduction was allowed), so it needed to include the proceeds from the sale in its income.

If TPs tax bracket is higher the year he must include the recovered income, he is just shit outta luck.

Ex: Year 1, TP takes $20k deduction. That year his tax bracket is 15%, so the deduction saves him $3k. In Year 2, he gets the $20k back somehow. He must include the $20k in income in Year 2.  If his tax bracket is now 20%, he’s going to pay $4k in taxes. 

If TPs tax bracket is lower the year that he must include the recovered income, he is a happy guy.

Ex: Year 1, TP takes $20k deduction. That year his tax bracket is 20%, so the deduction saves him $4k. In Year 2, he gets the $20k back somehow. He must include the $20k in income in Year 2.  If his tax bracket is now 15%, he’s going to pay $3k in taxes. 

Exclusionary tax benefit rule permits TP to exclude from income any recovered amounts that were not a source of tax benefit in the earlier year.

If the TP never took the deduction, then he doesn’t need to include it in income when he gets it back.

if taxpayer received no tax benefit, then there is no income in the subsequent event. 

Ex: if taxpayer made a chartiable donation, but his taxable income was zero that year, then he received no tax benefit from the donation. Therefore, if the donation is returned to him, he will not need to include it in income.

codified in §111

§111(c) – this rule does not apply very often, b/c even is taxpayer doesn’t benefit in that year, if it generates a carry over that is still on the table then taxpayer still has a “benefit” and therefore taxpayer must include the amount as income (and, he can take the deduction)

Accounting methods

§446 (p322rules)

businesses want to show as much income as possible for financial purposes, and the lowest possible income for tax purposes.

§446(c)(1) and (2) are the most important.

Cash method

Not quite as economically accurate, but much easier. Used by most individuals.

Income: recognized when 

1) taxpayer receives (or constructively receives) cash or economic benefit. (see issues below)

Liabilities: recognized when 

1) the moment they are paid.

must still remember to capitalize long lived assets.

Accrual method

Income: recognized when 

1) all events have occurred to fix the legal right and 

2) the amount can be determined with reasonable accuracy.

Liabilities: recognized when 

1) all events have occurred to fix the legal right, and 

2) the amount can be determined with reasonable accuracy, AND 

3) ‘economic performance.’

Economic performance EX: you are a tortfeasor. You are liable to someone who doesn’t need the money immediately but could wait 20 years. So you structure the settlement to pay $10M 20 years from now. You don’t get to take the deduction right now. You get to take it when you actually pay in 20 years.

In case of a service, we don’t have economic performance until the service is performed.

Ex: 2007 client asks lawyer to draw up a will. Laywer’s fee is $2k. Lawyer makes will in 2008. Client pays in 2008.  Cash basis lawyer taxpayer will include  Accrual basis client will take liability/deduction in 2007.  (????)
In the case of property, we don’t have economic performance until the property is delivered.

Cash method issue: constructive receipt

If it is within taxpayer’s ability to reduce the benefit to cash, it is treated as cash and is therefore taxable.

A right to a payment is treated as if received when the taxpayer had an unrestricted right to receive cash, even if the cash was not in fact taken.

If taxpayer created the condition that is preventing taxpayer from having the cash, then he has constructively received the cash. We can’t allow taxpayers to create restrictions of their own making to reduce income.

Ex: If TP sells property on December 1st, but asks the buyer to hold the check until January 5th, he must still include the income as if he received it on December 1st.

A person’s promise to pay taxpayer in the future does not trigger constructive receipt. (Amend v. Commissioner, p253)

If a corporation merely credits fund to an employee on its books but does not make those funds available to the employee,  there is no constructive receipt (p270)

If income is available to the TP so that he could receive it, but chooses not to receive it, then he has constructively received the income.

If TP contracts to receive the income after the fact, TP will be taxed on the later date.

EX: If TP sells property on December 1st. And the sales contract provides for payment on January 5th, then the TP does not have the ability to get the money on December 1st so the income will be included when he has the right to demand it, on January 5th.

Ex: If employee contracts with employer on December 1 to receive compensation on Jan 1, employee will pay taxes on Jan 1. 

Two drawbacks to this arrangement:

EE takes the risk that employer won’t be able to him when the K is due. 

Employer can’t deduct it until the employee includes it.

Most commonly used by sports teams.

They operate at a negative cash flow. But they are owned by wealthy people. So the employee is ok with the risk, because the owner will be able to pay.  

Cash method issue: economic benefit

TP must recognize the income in amounts to be received in the future when he receives the economic benefit of the income.

As the Ninth Circuit stated in Minor.

Cash method TP recognizes the income as soon as the two requirements are met.

TP receives the economic benefit when 1) the payor sets the money aside for him, in an irrevocable instrument, so that is it not forfeitable, and 2) makes it untouchable by any other creditors.

Even if TP hasn’t actually received the income, if he has received a valuable right to cash/property, then he must include it as income.

like, if payor put the amount in the irrevocable trust where receiver is the beneficiary. 

If the funds can be reached by payor’s creditors, then TP does not include it in income.

Unsecured promises do not trigger inclusion for TP.

Ex: Athlete signs a contract to play for a sports team. The team deposits the athlete’s pay into an escrow account to be paid the following year.  The team no longer has a legal claim to that money. Athlete can not demand the money, so he has no constructive receipt of it. But he does have income because the escrow amount is fully protected, it is as good as gold. It is a cash equivalent.

Taxpayer must actually receive the property or currently receive evidence of a future right to property. (p270)

This doctrine is only applicable if property received is capable of valuation.

An employer’s promise to pay deferred compensation in the future may constitute a taxable economic benefit if the current value of the employers’ promise can be given an appraised value---if it is fully vested in the employee and secured against the employer’s creditors by a trust arrangement, where it is not forfeitable.

If the recipient must perform or refrain from performing further acts as a condition to payment of benefits, the recipient’s rights are regarded as forfeitable.

Pensions and Qualified Employee Retirement Plans

Tax code offers a benefit in the form of deferred taxes.

Qualified employee plans

Employer contributions into a qualified plan are not taxed.  

The employer’s contributions are deducted in the year in which the contributions are made.

Pensions or defined contribution plan or matching contribution plan.  

Even tho they are completely vested in the ee.

Employee contributions (via salary reduction) into a qualified plan are not taxed.

EE takes payroll deduction and does not pay taxes on that amount. 

This is an exception to the constructive receipt doctrine. §401(k).

even if the ee had the option of taking it as cash today, it is not taxable to him under constructive receipt theory.

The growth in the account (even if there is realization) goes untaxed. 

Employee invests money in mutual fund portfolio. Sales of stocks/bonds normally trigger realization events. But, none of it need be recognized if it’s in a qualified plan.

All of it is taxed upon withdrawal, as ordinary income.

Amounts w/drawn from qualified plans before reaching age 59.5 are included in gross income and are subject to a 10% penalty.

The penalty does NOT apply if:

employee/taxpayer has retired after age 55, or

employee has died or become disabled, or

if distribution is one of several periodic payments for the life of the employee, or

if distribution does not exceed deductible medical expenses, or

if distrubtion is used to pay medical insurance premiums after employment.

Limitations on qualified employee plans:

non-discrimination provision

must be avail to all ees, not just highly compensated ees

must comply with ERISA.

earned retirement income savings account

this statute shortens the allowable vesting period so that an employee’s retirement benefit becomes non-forfeitable.

i.e., a company can’t keep it unvested for 80 years.

funds can only be w/drawn under the terms of the plan at retirement.

Notwithstanding special exceptions for down payment on first home, or sending first kid to college.

Mandatory distributions

Minimum distributions must begin in the calendar year following the year in which the employee reaches age 70.5

Maximum benefit

The maximum benefit under any plan may not exceed $160,000 adjusted for inflation after 2001. (§415)

Individual accounts

Traditional IRAs §408

same effect of a qualified employee plan for an individual who is self employed

self employed taxpayers are not allowed to form a corporation of which they are the sole employee to take advantage of more generous rules available to employees. TEFRA took this away. p285

Instead of excluding amounts, the individual contributes to IRA and deducts that amount from income. 

Contributions are deductible

individual may put up to $5k in an IRA as of 2008

catch up contributions allowed by people over 50.

Ppl over 50 before the end of the taxable year can make “catch up contributions” of another $500 in 2005 and another $1000 in 2006 and after.

Contributions grow tax free, 

Amounts w/drawn are taxed as ordinary income. 

individuals who have qualified employee plans and have an AGI above a certain amount are not eligible.

Roth IRA §408(a)

No deduction for the contribution.

Use after tax dollars to make contributions.

Growth is tax free.

No taxation upon w/drawal. 

in this sense, the tax benefits are “back loaded”

as long as the w/drawl is qualified

Nonqualified distributions that exceed the contribution amount, are taxable as ordinary income AND is subject to a 10% penalty.

Qualified distributions are:

more than five years after the year of contribution AND is made after age 59.5.

OR, is made after the contributor becomes disabled or dies.

OR, is made for certain higher education or first time homebuyer expenses of up to $10,000.

Economically, identical benefits to traditional IRA as long as taxpayer is in the same tax bracket in the year of contribution and the year of w/drawal. 

Limits on the amount of money you can contribute mirror the traditional IRA.

Roth IRA  is better for taxpayers who are saving for college/homebuying, or who are in lower tax brackets at the time of contribution than they are at the time of w/drawal. 

Education IRAs (§530)

Trusts created for the purpose of paying a beneficiary’s higher education expenses.

Employer Provided Stock Options
Employer gives the employee a “call option” for the company.

call option: option to buy, if you think it’s going up you buy the option to buy at a lower price than FMV.

put option: option to sell, if you think it’s going down you buy put options so you can sell the stock for a higher price than FMV.

Three variables that effect the value of the option:

exercise price

time window

vesting period/requirements

Incentive Stock Options §422

Qualifying characteristics:

stock option must be granted pursuant to a plan approved by the stockholders of the corporation within 12 months before or after the date the plan is adopted.

must expire after 10 years

option price must be FMV or higher at the time of the grant

option may not be transferable

receiver of the option may not own 10% or more of the company

receiver must hold the stock for at least 1 year before selling it.

2 yrs must pass between the date the option is granted and the date the option is sold. 

Employee’s basis= amount he paid for the stock on exercise. 

Employee pays taxes upon the sale of the options.

Employer does not get a deduction.

Biggest factor: Employee may not receive a grant for options that, when exercisable for the first time, are worth more than $100k in any one year.

measure the $100k by the FMV of the stock on the date of the grant. 

EX of qualifying grants:

Intel gives CRB 900 options on 3/25/08. On this day the stock price is $100/share. They are all exercisable for the first time on 3/25/09.  That counts as $90,000 for 2009. These all fit.

Intel gives CRB 4000 options on 3/25/08.  On this day, the stock price is $100/sh.  Each year for years, 1,000 options vest.  

3/25/2009 1,000 shares vest. 

3/25/2010 1,000 shares vest

3/25/2011 1,000 shares vest

3/25/2012 1,000 shares vest

These all fit within the plan. $100k worth of stock each year.

Ex of nonqualifying grants:

3/26/08, Intel gives CRB 2000 options exercisable for first time 3/26/09. On that date, stock is trading at $100/sh.  That counts as $200,000 for 2009. That means half of these options are going to qualify for ISO treatment. The remainder are over, so they fall under §83.

Any options that exceed the $100k limit roll into the rules for §83 options.

Non-statutory options (§83)

§83 actually applies to all transfers of property in connection with the performance of services

FIRST question: does the option have a readily ascertainable fair market value? (almost never does)

“Readily ascertainable FMV” is impossible ot meet because most options are not traded on a market. 

Stocks are traded on the market, but options usually are not.

If not: employee pays taxes on the date of exercise and on the date of sale.

There are no tax consequences on the date of the grant.

Income included on date of exercise is the spread between what employee paid to exercise the option and what the FMV was of the stock that day. This is ordinary income. 

Employer can deduct that amount on that date.

Income included on date of sale is the amount realized minus basis.  Basis= amount employee paid to exercise the stock plus the spread amount that he included in income at the date of exercise.  

This is capital gains.

If the options do have a readily ascertainable value, then §83(a) and (b) apply: 

if the options are either transferable or are vested, or both,  then the employee is taxed on the value of the option in the year of receipt. §83(a) 
effectively treat TP as if she received cash and purchased the used it to purchase the option

ordinary income is measured by the FMV of the OPTION on the date of the grant

This is economic benefit doctrine. 

If employer transfers something of value, and we know the value and it’s fully vested and not forfeitable, then it’s income. 

There are not tax consequences when the option is exercised.

If the employee exercises the option and purchases the stock, §83 does not apply to the transfer. Treat it as a normal stock sale.

The employee’s basis in the stock at that point is: (the amount TP included in income on receipt of the option) plus (the price TP paid for the stock when he exercised it.)  the result is either capital gains or capital losses.

If the employee never exercises the option because the stock price is below the option price, then the employee can deduct the amount he had to previously include when he received the option.  Subject to the capital loss rules of §1211.

If the options have a readily ascertainable value,  but they are not transferable and they are not vested, the taxpayer can CHOOSE to include at the grant (83b) or to include when they become transferable or become vested (83a)

§83a- TP owes ordinary taxes on the FMV of the option on the day that it vests or becomes transferable.

§83(b) election

TP includes in the year he receives the option (the value of the property at the time of transfer) minus (the amount, if any, that the employee paid for the property.)

Upside, all growth thereafter becomes capital gains.

Downside, if it is worth nothing at the end of the day there is no deduction.

Treatment of employee and employer is symmetrical. 

The employer takes a deduction the year the employee includes the income.

IRS Regulations

Regulations interpret the statutes

issued by Sect  of Treasury. 

IRS role is to inform the Sect, b/c it doesn’t have the authority to promulgate the rules.

used by taxpayers to know if/when they will be following the law.

lets Sect of Treasury give specific rules w/out waiting for case by case basis.

highest degree of formality. Requires notice and comment.

agency can also issue opinion letters to individuals, which have less weight than regulations.

Chevron two step

First: Has congress clearly spoken to the question?

If yes, agency is bound by that definition.

Second: If not,  is the agency’s interpretation reasonable?

If yes, court defers to the agency’s interpretation.

Court is trying to figure out what congress intended. Agency is supposed to be arm of Congress. Congress is elected, so following their version is more “democratic” than the judiciary making it up on their own. 

(Build legitimacy.)

If no, court makes it’s own interpretation.

Congress’ silence is an implicit delegation to the court to figure it out.

note, opinion letters do not get this deference. It gets Skidmore deference.
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